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4 The questions are of objective type. Hereis an

example.

Question : 8 Taj Mahal was built by—

(A) Sher Shah (B) Aurangzeb
(C) Akbar (D) Shah Jahan

The correct answer of this question is Shah Js_than. You
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SECTION-I : CHILD PSYCHOLOGY & DEVE

,OPMENT PEDAGOGY,

TEACHING LEARNING pROCESS

wfaamig 4 9 wdufas gain

(A) =faes &
(B) gFEEH
(C) 3rewe fam

(D) AcHhs TSl

iy =y Foem feee B0 T TR
(A) =T
(B) Haerd
(C) HIEe

(D) grerE®

(3)

1.

Ebbinghaus had done the

Pioneering experiments on :
(A) Perception

(B) Emotion

(C) Memory

(D) Thinking.

Who is the father of individual

Psychology ?

(A) David Hull -

= (B) Thorndike

(C) Alfred Binet

(D) Alfred Adler.

q,aw of effect’ was coined by :
(A) Skinner

(B) Pavlov

(C) Kohler

(D) Thorndike.

P.T:O:







'sPs_yC ho 1 O_gy’ IS ifltl‘o du_c_e d by .
(A) Rudolf Goekle

) William James
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10.

i1

12.

Self actualisation 1s proposed by :

(A) Carl Rogers
(B) Abraham Maslow
(C) Sigmund Freud

(D) William James.

According to Darwin, the variation
in behaviour passed from one
generation to next generations is

due to :

(A) »Seleetion

- 33) Cultural changes

- C) Inheritance

(D) None of the above.

Children often learn the habit
of telling lies when the discipline
is:

(A) Authoritative

(B) Permissive

(C) Democratic

(D) Submissive.
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13.

14.

add

It is the extent to which a test
measure it purports to measure
18 :

(A) Validity

(B) Reliability

(C) Norms

(D) Probability.

................ refers to the development
of the Individual with all his/her

potential.

(A) Self actualization

(B) Subjective competence
&) Mood management

(D) Cognitive competence.

may be defined asa

-------------------------

tendency to choose one activity in

preference to another.
(A) Intelligence

(B) Interest

(C) Attitude

(D) Al.l'ntitude..

P.T.O.
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16.

17-

18.

Stephen Ceci has suggested that

intelligence consists of ................

URAY 856 ...onisinevrason based and linked

to the context.

(A) multiple abilities, biologically
(B)I multiple intelligence, learning
(C) modules, developmentally

(D) processors, cognitively.

Personal, bodily-knowledge and
musical are intelligence of
concern to :

(.A) Steriiberg

"(B) Gardner

=

Information processing

theorists

(D) Binet.

What role does the basic processing
mechanism play in Anderson’s
theory?

(A) Itisone ofthe formsg of specific

. abilities that determine
‘ﬁrﬁelhgence

(B) It is one of the subtypes of
intelligence

(C) Itimplements thinking

(D) It is another Nname for
propositional thought.
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19.

In Sternberg’s Triarchic theory of
Intelligence the solution of an

analogy item involves :

(A) encl"diﬂg processes and

comparison processes

(B) experience and abstract

reasoning

(C¥ geéneral processes and specific
p_fooesses
(D) verbal  abilities  and

performance abilities.

addaz:

20.  Research shows that the following

" does not contribute to Teacher’s

effectiveness :

(AY Communication skllls
(B) Use of ICT |

(C) Years of Experience

(D) Use of Student feedback.

P.T.O.
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21.  uftysgar ) gfeafud cac) & feit 21. Which of the following statements
Fuq best defines Maturation?
R S CIRED (A) It is directly based on Social
: frmy @ omuif # Cognitive Learning
(B) It is an Automatic Biological
(B) TF TR & wa: Ao & Py et
' evelopment of the y that
? S gwy @ Wiy wpfaw &9 .
naturally unfolds overtime
| e @ @
(C) It does not take place in
©) @& W&l F T w2 b SR
®) T TR sk TR mrrm () Itisthe basis of all Physical and
e =1 smum @) . Physiological developments.
_"1“”‘5'1”_— i ;
22. ﬁ’ﬁ'ﬂf@ﬂﬁ@aﬁﬂﬁﬂﬁﬁﬁ gl of--22.  Which of the follewing is a
1 T favivar 22 characteristic ef Chomsky’s
oy |
(A) =1 &1 {9%i9 @@ 9 Giw CL R ' (A) develepment of language is
F AG F oAw 2 7 m ~ between three and five years
et o of age ‘
(B) w1 =1 fawg a=8 g urw ® 1 ] 3
y anguage develepment is
yHeaisT w fasft @ dependenten the reing i

(©) a4 s wor st s

aa-u % al W ey S

(D) @=dl | STHera WAfEE ST

s
g e

dren acquire mistakes in
' 'ima'uaae by ebserving their

parents and ethers areund

them .

receive‘dbyﬂlochild |

(®) children have an innate

e 2
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mental grammar.

(10)
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24

25
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@gﬂﬁawfﬁmﬁamﬁ
rqwerdl &1 IR B R

(A) €

(B) qfFH T B feufy
(C) fafsraa

(W) IS 37eTTa|

BAR F T TY %ﬂnﬁ[-\;ﬂma_ﬁ

(A) &3 o7frq

(B) &3 srfEe

(C) &3 afHa aﬂ{aﬁ

®) 7 & sfua IR A & &
ewfaim

A T @ AT Hed A S
¥ afgafer % fawn # ¢

(A) 10-19
(B) 35-49
(C) 55-70

® 20-34.

23.

24.

dda:

25.

~£3%)

Failure to Develop consistent

identity results in :
(A) Inferiority
(B) Role confusion
(©C) Stagpation

(®) Social isolation.

Petecting movement in spite of
camouflage is easier for people who

are:
(A) Field dependent
(B) Infield dependent

(C), Bothfield dependent and field

independent

(B) Neither field dependent nor
field dependent. |

People with moderate ménta]
i‘et.ardaﬁion would have an IQ in

the range of : :
(A) 10-19 | 1
(B) 35-49
(C) 55-70
() 20-34.

PTO.
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7. R, TEET B STER wAEH

(C) =FaqEIL

26.

27.

Who is famous: PSychOllinguistic ?
(A) Gardner

(B) Allen Newell

(C) A.Simon

(D) Noam Chomsky.

According to the J. B. Watson

Psychology is a Science of :
(A) Soul
(B) Mind

(C) Behaviour

(D) A& a d d a)) Brain.

28. ﬂﬁaﬁﬁaﬁaﬁmﬁmq 28
femadl & 99 99 ® wy o

faaa ofeafua fean?
(A) 9.4, arEd

(B) farmmve wige

(C) gzmad
() fafaan v
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Who defined ‘Psychology’ as the
scientific study of activities of
organism in the relation to its

environment ?

(A) J.B.Watson

I(B) Sigmund Freud

(C) Wood-Worth

(D) William James.
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‘nﬁﬁaﬁﬁﬁmﬂﬁﬂamﬁ

29. Who defined Psychology as the
%l g kSR Science of immediate experience
feas g gfeenfid fovan e with consciousness being the main
A) 8. fea™ subject matter ?
(A) E.B. Titchner
(B) fafeaq <=4 '
(B) ‘William James
©) famvs wEE |
(C) Sigmund Freud
@) fowew g7 (D) Wilhelm Wundt.
U9 i T mﬂﬁmﬁﬁ gz | 30. Which Psychologist constructed
g fe man? the first Intelligence test?
(A) fafaam w= (A) 'William James
(B) §. st. @EEA a d d J.B. Watson
(C) fafeam Azga illiam McDougall
(D) sews fadl (D) Alfred Binet.

(13)
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S'ECTION—H : CHEMISTRY

3. mma}mmﬂaﬁﬂﬁ
g
(A) AG >0andAS>0

(B) AG <O and AS <0

(C) AG <O and AS>0

(D) AG=0andAS>0.

(A) CeHg
(B) BgN3Hg
(C) BN, H;
(D) B,N,H,.

33. mmam@a%m&?
4 Tt faeaA @ pH 1 7 ©

(A). 4,75
(B) 1.58
(C) 9.25

(D) 7.42.

J-2106-Series-D (
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14)

31.

Appropriate condition for the
Spontaneity of 2 process is:

(A) AG >0 and AS >0

B) AG <O and AS <O

(C) AG <O andAS>0

(D) AG =0 and AS >O.

Inorganic benzene has formula:

_(A) CcHe

(B) B3N§H'é

The value of pH for buffer which is

a mixture of Acetic acid and

Sodium acetate is:
(A) 4.75
(B) 1.58
(C) 9.25

(W) 7.42.
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(D) Sc. : : i

Mol L1 sec™! o sifufsran W
feegtion &t TTE 27

bl Al

(B) 1

(C) 2

(D) 3.

317.

38.

addaB> .

39; .

(16)

A pair of Propanone and Propangy|
is :

(A) Metamer

(B) Tautomer

(C) Chain isomer

(D) Functional isomer.

Name the element that discovered

later and which has similar

properties to Eka-boron according

to Mendeleev in his earlier
predictions™ =

(A) Ga

(C) Ti
D) Sec.

. Mol L-1sec ! are the units of rate

cons :__ nt for which reaction?






43.

45.

Cl
AfsfeRan R~CI+NaI*’F"I+Na

W'—TTH%\:
A) firroes affedl
(B) @Wreg  Afyafsdl

(C) =R

(D) frza woe AfvfHATl

(A) 3RS ToEHA eﬁh

S+l

(B) SYUEHT TSI ﬁiﬁﬁrﬁﬁ

S

(C)rch—-ﬁaaﬁtwﬂ—eﬁma

(D)ﬂamﬁﬂaﬁtqﬂﬂ“?ﬁmm_ :

FA-T Had wfuw aia 27
(A) BuEa A

(B) THTeAA

(C) st

(D) éﬁ Surge S|
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43.
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add

(_C') Phenol and Fﬁrmaldehyde

18)

The name of the reaction

R_Cl+Nal > R-I+NaCl 1s:
(A) Finkelstein reaction

(B) Swarts reaction

(C) Waurtz reaction

(D) Friedel Crafts reaction.

The monomer unit of Dacron is :

(A) Ethylene

glycol and
_,Isopht;;.;;; licaeid
R = .
(B) Ethylene - glycol and

a Terephthahc acid

== (D) Melamine and Formaldehyde-

ich is most Basic?

(B) CgH,yNH,

() NH,

(D) (C,Hy)y NH.



16. Which one is Animal fibre?

(A) Cotton













. Which of the following molecule
sy 1 A S i 3, has high dipole moment among

(A) NH,
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64.

65.

66.
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gem ®

(A) Jeifped

(B) §aiEifhed

(C) auifthed

(D) tﬁm1

o T w e ®
(A) ¥

(B) ir=it

64.

65.

Largest number of WBCs

are :

(A) Neutrophils
(B) Eosinophils
(C) Basophils

(D) MOnocytes ’

Aril is the edible part of :
(A). Apple...

(B) Litchi

() Bem | a d d ac) Yy

(D) 341

(B) BIEEISA, sifardro S viaE
(C) ATP,WWWWW

(D) ATP, FEERT T TR

66.

(25)

(D) Mango.

During light reaction in the
Photosynthesis the followings are

formed :

(A) ATP and Sugar

(B) Hydrogen, Oy and Sugar

(C) ATP, Hydrogen donor and Ogy

- (D) ATP, Hydrogen and O, donor.

PO
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67.  “Survival of Fittest

e e g 0 ¢

(A) ®WW

(B) durs »

(©) srfE ]

S 5
68. TTA § W H W %

(A) FfEET = e

(B) 3fasze w@er
© #irdm @
(D) 3I9UF |l

69.
o ' :

(A) eivrEe Ffwet A e |

| (B) A% & giqes
(C) @A Hege #1 sirad dan
(D) A% & 77 &)
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67.

| 68.

(26)

The idea of «gyurvival of Fittest”

was first presented by :
(A) Spencer

(B) Lamarck

(C) Darwin

(D) Huxley.

Type of Placenta in humans is :
(A) Chorioﬁic placenta

(B) Declduate pIaeenta

| 69. The cells called podoc; 0cytes, occur

(B) Cortex of nephron
(C) Inner wall of Bowman’s

capsule

(D) Neck region of nephron



Formation of antibodies -

Human bodies is called a5 -
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g W | 73.  Which of the following hormoneS
is associated with the Stomgg,

73, fofafeq & @ A9

| | el * ‘ movement?

(A) it (A) Auxin

(B) frsRfer | (B) Gibberellins
(C) wrfewf = - (C) Cytokinin
(D) ABA. (D) ABA.

: |I e, x
74.  HiESH & HH-T1 ‘ﬂmﬁﬁm 74. Which part of Brain controls

=1 Fata w@ 22 Intellectual ability?
(A) Sare Tifd (A) Frontal lobe
B) Rz dife B Paretalll

(C) i@ wifed , dlda(C) Tempmallobe

(D) 9g=hId Hifall ™ ‘Occipetal Iobe

75. 35HHE fRE M @ FH B FRo | gp

Diabetes insipidus is eaused by the

Bl 272 deficiency of hormone :
(A) zgfer _ (A) Insulin

(B) T (B) Glueagon.

(C) HEmfEd (C) Vasopressin

(D) sfefE| (D) Oxytocin.

J-2106-Series-D (28)



76.

7.

78.

HCl Tfid i ©

A) s Fifawen @
B) wvw FiferwE @

(C) Wauh Hifvewsn @

ST S A R
(A) WA

(B) HIZH Il

(C) A5

(D) ScTFEE|

AT, & ZHS ¢
(A) FEHTTE AN oA
(B) e e A
(C) oz s a1
(D) a&a‘fmﬁﬂaﬁ‘n

J-2106-Series-D

(29)

786,

77.

8.

HCl is secreted by :
(A) Pepticcells

(B) Goblet cells

(C) Argentaffin cells

(D) Oxyntic cells.

Joker of the plant kingdom :
(A) Cyanobacteria

(B) ‘Mycoplasma

a d‘d a (C) Bryophytes

(D) Thalophytes.

DNA fragments are :
(A) Positively charged
(B) Negatively charged
(C) Neutral

(D) Having both charges.

R.T.O:
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Ginger is an example of

82.

(A) Rhizome

Bulb

(B)
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Fixternal Fertilizat
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Who is called father of C

130.

India?

i0n 1m

Aviati










Waves used for Telecommunication

care;

(A) Vigible light

(B) Infrared

(C) Ultraviolet




Who was the founder of Scout and
Guide?

(A) Alexande




SR T 1 ¢ ﬂ’l‘ﬂ 21 a d 145. In which year the Voting age was

reduced from 21¥ ears to 18 years?

(A) 1980 3. (A) 1980 A.D.

(B) 1989 % (B) 1989 A.D.

—

(©) mesAD |

(C) 1998 %



148.  Who is the Father of Economics?

(A) Marshall

i _ s
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